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Inside each cloud call out are three numbers of a fact family. Add or subtract using these 

numbers. The first one is already done for you.  

 

                                                        

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

2.NBT.B.5 Addition and Subtraction Facts Part 2 

 2.NBT.B.5: Fluently add and subtract within 100 using strategies based on place value, properties of operations, and/or 

relationship between addition and subtraction.   

  

 
 

5 + 6 = 11 

6 + 5 = 11 

11 – 6 = 5 

11 – 5 = 6 

__ + __ = __ 

__ + __= __ 

__ – __ = __ 

__ – __ = __ 

__ + __ = __ 

__ + __= __ 

__ – __ = __ 

__ – __ = __ 

__ + __ = __ 

__ + __= __ 

__ – __ = __ 

__ – __ = __ 

        7                                       13 

4              3                     8              5 

 

5              6 

        11                                  6 

5              6                     4             2 

 

5              6 
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2.NBT.B.5 Addition and Subtraction Facts Part 2 Answer Key 
2.NBT.B.5: Fluently add and subtract within 100 using strategies based on place value, properties of operations, and/or 

relationship between addition and subtraction.   

.  

 

 

4 + 3 = 7 

3 + 4 = 7 

7 – 4 = 3 

7 – 3 = 4 

8 + 5 = 13 

5 + 8 = 13 

13 – 8 = 5 

13 – 5 = 8 

        7                                       13 

4              3                     8              5 

 

5              6 

  

 

        11                                  6 

5              6                     4             2 

 

5              6   5 + 6 = 11 

  6 + 5 = 11 

11 – 6 = 5 

11 – 5 = 6 

4 + 2 = 6 

2 + 4 = 6 

6 – 4 = 2 

6 – 2 = 4 


